H & 0l & AHS B Ml A

20283 =& 1 3 LUts|H 4FH

HEE
HEE AFSAH|
FEEC X2 (EHol: &9)
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HdMH 513,695 532,685 A18,990
A ALY 439,552 441,09 A1,543
FOIEON X 128,552 130,095 1,543
FOIE0 L AL X 3,780 4,200 A420
201 Lt29Y| 810 900 AD
03 A2 Y] 810 900 AD
O2cAsA 29 450,000 23] *90% 810 900 A
301 YBtEAZ 2,970 3,300 A330
11 HAFMHIXIR S 2,970 3,300 A330
OBAAHIEAIS 2,970 3,300 A330
—SHOP ATHUAL BHADH
8,0002 * 100 *23|*90% 1,440 1,600 A160
—S0 DPHEHOIAIY S5 ZaPa
10,0002 * 1202 15/ «90% 1,080 1,200 A120
—2O9l BAHOISER S) A2
10,0002 x502 * 12 x90% 450 500 A5
HdAH 2% X2 21,702 22,825 A1,123
201 LBt2HY| 19,452 20,475 A1,023
® 3249l 19,452 20,475 1,023
OXtesetety] 11,833 12,456 NB23
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— Xty 100, 0002 *4TH 122 95% 4,560 4,800 A240
oozt
R52%14 . 52| Efx2IH A* 1202 %95% 3,059 3,219 A160
OAIEZHISXIH 400, 0002 * 122 %95% 4,560 4,800 A240
405 KHAHE SH| 900 1,000 A100
01 T SEF SH 900 1,000 A100
OFA 2Y S SEFSHI
1,000, 0002 *90% 900 1,000 A100
HHSHAH|(LADH) 74,143 91,590 N17,447
J|1=23l 74,143 91,590 A17,447
Jl=2yl 74,143 91,590 A17,447
201 Lt29Y| 44,603 46,950 N2,347
01 Al22t2|H| 30,923 32,550 A1,627
ORI =4 27,360 28,800 A1,440
—2AN2Y LY S
2,400,000 122 x95% 27,360 28,800 21,440
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8,000 * 152 %2541 «05% 2,850 3,000 A150
Ogals=g 30,0002 x252 *95% 713 750 NZ7
02 33234l 13,680 14,400 AT20
O3323 % HAl
1,200, 0003 122 »95% 13,680 14,400 AT20
202 04l 18,740 33,840 A15,100
01 A 1,800 4,800 3,000
O=U0d] 20,0002 190! 1,800 4,800 3,000
02 XN 16,940 29,040 A12,100

OZH048l 220,000« 1187 & 16,940 29,040 A12,100




